HPE_CIEO2 cone sensitivityy max(A)=1

To2,10)=B11X 02,10 *+B1Y02,10)+B1202,1(A)
Blj 0,3897 0,6889 -0,0784=570

2,0 P60:3T o 1(A)=20,74
X02'1=0,3217
YO2,120'3314
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HPE_CIEO2 cone sensitivityy max(A)=1

To2,10)=B11X 02,10 *+B1Y02,10)+B1202,1(A)
Blj 0,3897 0,6889 -0,0784=570

2,0 P55:57 g 1(A)=20,92
X02'1=0,3320
YO2,120'3407
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HPE_CIEO2 cone sensitivityy max(A)=1

To2,10)=B11X 02,10 *+B1Y02,10)+B1202,1(A)
Blj 0,3897 0,6889 -0,0784=570

2,0 P50:5T 0z 1(A)=21,17
X02,1=0,3446
YO2,120'3512
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HPE_CIEO2 cone sensitivityy max(A)=1

To2,10)=B11X 02,10 *+B1Y02,10)+B1202,1(A)
Blj 0,3897 0,6889 -0,0784=570

2,0 P45:5T 5 1(A)=21,50
X02'1=0,3603
YO2,120'3632
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HPE_CIEO2 cone sensitivityy max(A)=1
T02,1M=B11X02,1A)+B12Y02,1A)+B13Z02,1(A)

Byj  0,3897 0,68§9 -0,0788=570
2,0 P40:3T g 4(A)=21,99
X02,1=0,3799
YO2,120'3764
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HPE_CIEO2 cone sensitivityy max(A)=1
[02,10)=B11X02,1A)+B12Y02,1(A)+B13Z02,1(N)

Byj  0,3897 0,68§9 -0,0788=570
2,0 P35:3T g 4(\)=22,71
X02,1=0,4047
YO2,120'3904
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HPE_CIEO2 cone sensitivityy max(A)=1
T02,1M=B11X02,1A)+B12Y02,1A)+B13Z02,1(A)

Byj  0,3897 0,68§9 -0,0788=570
2,0 P30:3T gp,4(A)=23,87
X02,170.,4362
YO2,120'4038
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HPE_CIEO2 cone sensitivityy max(A)=1
T02,1M=B11X02,1A)+B12Y02,1A)+B13Z02,1(A)

Byj  0,3897 0,68§9 -0,0788=570
2,0 P25:3T g,4(A)=25,89
X02,70,4763
YO2,120'4135
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